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Seven (uestions may be answered. 10 (a) or 10 () may he
answered, but not both. All questions carry equal marks.
Mathematical Tables may be obtained from the Superintendent,

]. Solve the equations :
() (24 3¢ =138 (z+3) + 420.
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and verify your solutions,

5 Find the condition that the roots of the equation ax®-|-brte
—( are equal.

Find the values of m for which the equation m2a2-(m?+m)es
1—0 has equal roots, and hence find these equal roots.

3. Find (i) the sum of the first » natural numbers, (ii) the sum of ¥

the second 7 natural numbers.

The side AB of a triangle ABC is di vided into 100 equal parts;
and from the points of section parallels to BC are drawn to meet AG
From the points of section of AC parallels to AB are drawn to meet
BC. Tind the number of points of intersection of all these parallels,

which lie inside the triangle.

4. Prove that loggmn=logm-+{log,n and that logm"=nlog,m.

Show that x=2} satisfies the equation »/=y* where y=a1/2.

5. Find the values of = and y which satisfy the equations
(24 92) — (e-+y)=9 and 2ay=3. :

sum of

6. Express (E+-mPn?) (24 1) (lemy--n)® as the
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ge squares, and hence find values of 2, y that satisfy the equation
mP-n?) (@2 1) = (lx+my-Fn).

7, Show that if an expression is a common factor of two given
gsions, it is also a factor of their sum or difference.

;:E_Iénct‘. or otherwise find the common and other factors of x4 —Gat
Se—6 and ¥ —8x2—521-6,

. Show graphically or otherwise that the value of # which makes
expression @2®tLbxt-c a maximum or a minimum lies midway
n the values of x which satisfy the equation ax®+be o=/,
k has any value.

ind the maximum value of 8—32—222,

9. A number of men agreed to share equally in the purchase of a

number of tickets in a sweepstake at 10/- per ticket. Six of
however, withdrew, and the others caleulated that by sub-
bing an additional £1 each they could buy 20 tickets more than
iginally intended. If only five of the men had withdrawn, an
nal 10/- each from the remainder would have procured 5 tickets
than was originally intended. Find the original number of men
ed and the number of tickets they proposed to purchase,

10 (). Write out the expansion of (I—x)-%. Hence or otherwise

l
o

3¢
Y=zt e+, L . to infinity, show that a=y—y? +y? =yt
to infinity.

the sum to infinity of the series I—I—;_l;-'r

Or

). Factorize a®(b+-¢)-0%(c+-a)+cXa+b)+2abc and show that
| given expression is equal to O, then

( el )= L
% b -0 a4

M is any odd integer.




